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ewrite the following polynomials into standard form. Give the LC, degree, and classify each polynomial.
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Write the sum, difference, or product of the following polynomials in standard form.
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9) What polynomial could you add to 3x* — 9x3 + 5x% — x + 7 to get a sum of 3 + 4x* + 3x — x3 + 3x2?
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) What polynomial could you subtract from 5x3 — 12x — x2 4+ 9 — 12x5—6x* to get a difference of
19 + 8x3 — 18x — 19x5 — 2x% — 8x* ?
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Expand using Pascal’s Triangle } g U U‘
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" Find the following binomial probabilitiés. v : = b

13) An agent sells life in§1}rance policies to five equally aged, healthy people. According to
recent data, the probablhtcy. of a person living in these conditions for 30 years or more is
2/3. Calculate the probability that after 30 years 4 or 5 people are still living..
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14).A pharmaceu'flcal lab states that a drug causes negative side effects in 3 of every 100
patients. To confirm this affirmation, another laboratory chooses 5 people at random who
have consumed the drug. What is the probability that exactly 2 people experience side

effects? 9 3‘
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15) A fartner plants 12 saplings. On average, 15% of saplings planted fail to survive their first winter.
Find the probability that more than one of his saplings will die in that first winter
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16) There were ten green bottles sitting on the wall. The probability of a green bottle accidentally
falling is 0.95. What is the probability that fewer tha},n 3 of the green bottles accidentally fall?
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17) At Buford High School, 4 in 7 students is on a sports team. There are 4 studentcouncil representatives in
the school. a. What is the probability that 2 of the student council representatives are also on a sports team?
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